05/18

www.nvent/schroff.com

Schroff GmbH

Langenalber Stral’e 96 - 100 e D-75334 Straubenhardt e Telefon: +49(0)70 82 7 94-0 e Telefax: +49(0)70 82 7 94 200

\/

nvent

SCHROFF
Benutzeranleitung User Manual Instructions utilisateur
inpac-Erdungsset inpac grounding kit Nécessaire de mise a la
(21100-814) fiir Erdung (21100-814) for grounding masse (21100-814)
nach VDE 0806, 0160, 0411 to VDE 0806, 0160, 0411 pour VDE 0806, 0160, 0411

60828 - 075 Rev.004

1/3



’\ /
nvent
SCHROFF

lackfreie Bereiche (8 x)
Erdung nur hier!

Unpainted conductive areas (8 x)
for ground/earth connections!

Bei 6 HE zusatzlich Zones non peintes (8x)
/ Seitenwande erden Mettre a la masse uniquement ici!

/// Side panels should also be
/ grounded on 6 U case
Pour le coffret 6 U, mettre aussi

N
\ /i[ alamasse les parois latérales.

A3/562a
A4/1427a

2/3 60828 - 075 Rev.004



\z

nvent

SCHROFF
Pos. Benennung Stiick  ltem Description Quantity No. Désignation Piéces

1 Erdungsleitung 5 1 Groundingline 5 1 Conducteurde S

(110 mm) (110 mm) masse (110 mm)
1a Erdungsleitung 2 1a Groundingline 2 1a Conducteurde 2

(160 mm) (160 mm) masse (160 mm)
2 Flachstecker 7 2 Fastonconnector 7 2 Ficheplate 7
3 LikoschrM4 x 8 3 Panhead screw 3 Vistétebombée

DIN 7985-4,8 6 M4 x8 M4 x8

DIN7985-4.8 6 DIN 7985-4,8 6

4 6kantMutterM4 4 HexagonnutM4 4 Ecrou6pansM4

DIN 934-5 7 DIN 934-5 7 DIN934-5 7
5 Zahnscheibe A4,3 5  Shakeproof 5 Rondelle

DIN 6797-St 14 washerA4.3 crantée A4,3

DIN6797-St 14 DIN 6797-St 14

6 Sonderschraube 6 Special screw 6 Visspéciale

M4x12 1 M4x12 1 M4x12 1
7 Schutzleiterschild 1 7 Grounding label 1 7 Plaque

signalétique de
masse 1

~AuBerer AnschluBpunkt*

Die Schutzleiterzuleitung zum
~AuBeren AnschluBpunkt” erfoigt
kundenseitig und darf bei diesem
Erdungsset den Kabelquerschnitt
von 1,5 mm?2 nicht Giberschreiten.
Am &uBeren AnschluBpunkt wird
das Erdungszeichen @ ange-
bracht.

Frontplatten

Besteht die Gefahr, daB im Ver-
sagensfalle berihrungsgefahr-
liche Spannungen in den Bereich
der Frontplatte gelangen, so ist
diese ebenfalls nach VDE-Richt-
linien zu erden.

Riickwand

Firdie Rickwand-Erdung ist ent-
sprechend Montageanweisung
vorzugehen. Der Kunde bohrt
dazu ein Loch g 4,2 mm, an be-
liebiger Stelle, in die Riickwand.

Hinweis

Fur die VDE-gerechte Erdung
des Endgeratesist der Hersteller
desselben verantwortlich.

“External connection point”
The customer connects the
ground to the “external connec-
tion point”. The cable cross-
section of 1.5 mm2 must not be
exceeded with this grounding kit.
The grounding label @ is attached
at the external connection point.

Front panels

In the event of a failure, which
would cause high voltage to reach
the front panel, itis recommended
to ground the front panel to VDE
specifications.

Rear panel

The rear panel should be
grounded in accordance with the
assembly instructions. The
customer drills a hole g 4.2 mm
as required in the rear panel.

Note

The manufacturer is responsible
for grounding the final equipment
to VDE specifications.

«Point de raccordement extréme»
La pose du conducteur qui ira
relier le point de «raccordement
extréme» incombe a 'aquéreur.
La section de ce conducteur ne
doit, pour ce nécessaire de mise
ala masse, pas dépasser

1,5 mmz2. Au point de raccorde-
ment extréme se trouve le
symbole de masse @.

Faces avant :

Si par suite d’un défaut les faces
avantrisquent de se trouver sous
tension, celles-ci doivent égale-
ment étres reliées a la masse
selon les directives VDE.

Paroi arriere

Sa mise a la masse doit se faire
selon les instructions de montage
correspondantes. Pour ce faire,
I'aquéreur y perce a I'endroit
voulu un trou de g 4,2 mm.

Remarque

Lamise alamasse conforme VDE
de 'appareillage incorporé
incombe a son fabricant.

60828 - 075 Rev.004

3/3



